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General Instructions :

(i) The question paper has 30 questions in all. All questions are

compulsory.
(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are very short answer

questions. Each question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions.

Answer of these questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions.

Answer of these questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,

attach the maps inside your answer-book.

32/1/1 2



1. 1832 %1 39 1Y =1 AW faRaw e oW &l T Tad TY i A=l
i 1

AYAT

oo™ ° T f TS & S8 SHET ° et ST STaieTt skt e
gfrorms fehet ?

Name the Treaty of 1832 that recognised Greece as an
independent nation.

Or

What was the result of the peace negotiation in Geneva that

followed the French defeat in Vietham?

2. @ivst | fafag @, waar, fafay forea, wvs 3R o9 =i 9 S
g7 1
Why are there a wide range of colours, hardness, crystal forms,

lustre and density found in minerals?

3. et @8 g W f=a TRIeH T YR ATEHM Jhid o STReH |
[RERN 1

How are issue specific movements different from generic

movements?

4. Tt u TerHifae g o1 A Ty, fSraeht ¥ TR W TSI die
7, T 3 T TSHITeh & oh €9 H AT el (Hell ¢ | 1

Name any one political party that has national level political

organisation but not recognised as the national political party.
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5. Sifcrfor | 9Tt o ASTiohtoT o RETIT® STT&Te ohl ST[ATS fohdl TS o il
off ?

Which organisation led the protest against water privatisation in

Bolivia?

6. THarwT I forawhl frerer § afwt shifo |

Differentiate between investment and foreign investment.

7. Ul shitsTy foh 3ATIeRT 3T AT o SIUF Ui o fow gt <t Ok siad
Te Ul ® | SEehl TuTeRT o Ufd 3TvaEd B o folu 31T Shie AT 31ee
forg (<) <A =men ?

Suppose you have to buy a packed bottle for drinking water in

your journey. Which logo will you like to see to be sure about its

quality?

8. Slohl O ST UNET fore TehR Senl <1 3T Rl QI sl @ ¢

How do the deposits with banks become their source of

mcome?

9. U ¥ Il F&l ok A AR hl B fohH TRR TY I €I o+ |
[ELSEREAIE

JAYAT

HIATGAT o foeg oe+ o foru o o fafsye o gro fore e st @
ferRraT T TyaTe fohd Tehr 39T ¢ Targersor shifs |
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How had the female figures become an allegory of the nation

during nineteenth century in Europe? Analyse.
Or

How did nationalism emerge in Vietnam through the efforts of

different sections of society to fight against the French? Analyse.

10. 1921 Tk ToREH WS 1 VST dIR L Tofam o1 ? TSl o 39 910 ohl
& faRivarett ol T8 i | 1+2 =3
Who had designed the ‘swaraj flag” by 1921? Explain the main

features of this ‘swaraj flag.’

11. ** Ao a9 <o STHean A6 § i ar|’”’ sed i gfe
3STEN |ied hifSd | 3x1=3

“The Civil Disobedience Movement was different from the Non-

Cooperation Movement.” Support the statement with examples.

12. 3T I YSit (a1 o IR W Ffferd hilT | o fohd AR Toh-g@l 9
1 8 7 3eTRTn wied T i | 142 =3

Classify industries on the basis of capital investment. How are

they different from one another? Explain with examples.

13. ‘e uftged & aned g fosm 29 1o -omufera 817 58 %om & uar
A foeR =<k il | 3

“Efficient means of transport are pre-requisites for the fast

development.” Express your views in favour of this statement.
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14. 59 N < H THAS AN ¢ ST Fed ATA § I=AqH ATINE 7o
3caTE o I Ee § afigel qen sttt 2177 39 s @l mETd
SIS 3
“The textile industry is the only industry in the country which is

self-reliant and complete in the value chain.” Justify the

statement.

15. ‘TFH TeHifde e’ | a1 AT 2 ? T TsHideh & s & oI
ATATTH I ol Jeei@ hITST | 1+2=3

What is meant by a ‘national political party’? State the conditions

required to be a national political party.

16. T Tt g fohd hed 2 7 3Rt sprd-farfer =1 aoia Hife | 1+2=3

What are sectional interest groups? Describe their functioning.

17. **SATRIST TITUT AAlehdTiNeh ITH{-eh ey fodr shi I 1 AT
F & 21 39 FHeH I e wfed gy hifer | 3x1=3

“Most of the established democracies are facing the challenge of

expansion.” Support the statement with examples.

18. 1, IEG3T IR Taredt & foafma o form YR giaen yemehal o €9
T L Tohdl & ¢ TIY A oh foTu 3eTetur Sifsru | 3x1=3

How can money easily exchange it for goods or services? Give

example to explain.
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19. ‘YRG ¥ 1991 ¥ foeyr =R 3R foesft e T & el = w1h &
qoh 21 Toam 7= o7 | 39 held ohl =I¥ETd S80S | 3

‘Barriers on foreign trade and foreign investment were removed

to a large extent in India since 1991.” Justify the statement.

20. ‘IR S5k shl GRE ohl AR okl gdlcdTied el =1eu | dehi
Tfed 39 A hl i i | 3x1=3

“The credit activities of the informal sector should be

discouraged.” Support the statement with arguments.

21. HrHTE @ o o= amEe 9eeH Sl WEAT 9T R o fofe S
ShTT~ISRTICAT GIT ST fohU 77T 3T ST 1t okt forweteon shifsru | 5%1=5
arera
“fomrdam o SR % g8 H % Ued ¥ T AT SR YR gIT S
foaamTiRl o arg-a1y SRRl o foTq SIgd Hem @rfed geft |’ 39
I T Tt T |

Analyse the measures and practices introduced by the French
revolutionaries to create a sense of collective 1dentity amongst the

French people.
Or

“U.S. entry into the war in Vietnam marked a new phase that
proved costly to Vietnamese as well as to the Americans.”

Analyse the statement.
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22. TS = ST Teld T 1919 o fo%g U TPt T ATeieH
T =1 T = R ? 30w i fhg YehR defera feRam TR ?

Wy HIU | 2+3=5

Why did Gandhiji decide to launch a nationwide satyagraha

against the proposed Rowlatt Act 1919? How was it organised?

Explain.

23. UIferad i TEAT il ISR HINT | YRa | Udiferam i Iufedfa i
ST IS | 2+3=5

Highlight the importance of petroleum. Explain the occurrence of

petroleum in India.

24, ‘“Toreh <w1 1 rrieier Iafa Tafamior 3= o foshra @ w1t sttt 2177 ol
afed g0 s i gfe Fifvw | 5

“The economic strength of a country 1s measured by the
development of manufacturing industries.” Support the statement

with arguments.

25. AT TRR [ohd YRR T ThR hl TR § dgal § ¢ gorl

FhifsTe | 5

How are the democratic governments better than the other forms

of governments? Compare.
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26.

27.

28.

29.

“‘qama TuE TR TSI TsHitd W fafve yemr & w9 eed €17 39
Y ol IUGTh IaTeN Fed S it | 5x1=5

“Pressure groups and movements exert influence on
politics in different ways.” Support the statement with suitable

examples.

R0T ohl HEwIqUl SR FeRIIcHeR Y[HeRT SRl IQTEL0N Aled JuI hil | 5

Describe the vital and positive role of credit with examples.

Jvefierror fore hed § 7 dvdieRtor 1 Wfsm ot WiEd e | SgusE
SHEQT Shl S[HeRT h1 FUH hITTT | 1+4=5

What i1s globalisation? Describe the role of Multinational

Corporations (MNCs) in promoting globalisation process.

= &0 A, B 3R C, YRA & feu U yeHifaes War-amie 0 sifea

forg o 21 39 weon w1 fEfcfga S f werEr @ =i it

3o G W TS 0 @i 1 et W) faRa 3x1=3
A. I8 TIH T8I IR UL I I STTIERH 371 o1 |

B. 9% T S foRemi o HeamiE ¥ Je1 gen § |

C. 98 IR SNl ST ST ST 8 T 1erd 2 |
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Three features A, B and C are marked on the given political
outline map of India. Identify these features with the help of the
following information and write their correct names on the lines

marked in the map :

A. The place where the Indian National Congress Session was
held.

B. The place associated with peasant’s satyagraha.

C. The city associated with the Jallianwala Bagh incident.

e : ffafigd g shaw givantam et  fae g e 29

6 TIH W T :

(29.1) 3G M &1 W faIRgu, ST 1927 § RS TSF HUF
STTTeRT g3TT o1 |

(29.2) 3T T 1 AW Teiflgn, St et H Tl FH Il 3 TR
foRarm o |

(29.3) STATATT SFT 1 T & Faferd e ot A ferfian |

Note : The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress

Session was held in 1927.

(29.2) Name the state where the Indigo planters organised
satyagraha.

(29.3) Name the city related to the Jallianwala Bagh incident.
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30. 9RA o QU U TSHIfah @T-gEed § HEfaiad s 3uE el |

qRI3Y 37 37k 7 fIRau - 3x1=3
A. FFHTR — dA-&
B. PR — TIENd EIG T3

B. TRIME — @ 9gs o<

On the given political outline map of India locate and label the

following with appropriate symbols :

A. Ankleshwar — Oil field

B. Durgapur — Iron and steel plant
C. Tuticorin  — Major seaport
e : fAHfaRad Te shaet gieaTtera uderTterat o fole Te |8 30 o T

WE:

(30.1) 3Tehcivar dct & fore s 1 fe¥a © 7

(30.2) YL AR 9 810 933 foha s 1 fedra 2 7

(30.3) IR o SIAUTAH FHET I0 &l A IR |

Note: The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 30 :

(30.1) In which state is Ankleshwar oil field located?
(30.2) In which state is Durgapur iron and steel plant located?

(30.3) Name the southern most major seaport of India.
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